Asmd
o (x=7° (éw)a _ S@ et
[55 2 e

(fjf(aeém Z l%ﬁf. 5 - /‘/’/375/«3/\[?75] ?




N& rc(é

O (o r(qo g) Dyurtaw Crrcle (13,8 )

Q(_.k) 4—(3-—2-«)

T,

>< }O .f.,(é 5) ::,g\?,

(rse) Pt o= 1*+3)T = 18
@, eyl =8 ]~

WCC’S“QW = Sl _cw?

&féy/ St sab

= [/ —coté |
B 2P el




Q + 0

@ P VEOLed J,ﬁte\cf(’h)/u-# Q)
:‘Aut’rﬂ/q/w"ﬂ\ £, oed

wl PG Lo @=3md =Y.

- - —
F.,)J, 0 whe T=) MJ. R<=0.5

p=r@ |
f_
3
= ’-/»"3 Oﬂ
%Oq u( ’F::.IZQ

12 = [ L
("\\?_g]g
=20
T



Y

™
g\)»/\ {:L _ Q.+ A _f}). +2¥5*
r\fYL‘th(i g = ) < GC:?{
Cet! N=4
6= (zz+20) & (2=t
) <
g = H-IE




vl
*(ésmaﬂ; [ 6&0 Servid %(
1..,5 I
= Q.
A |7
—]
a(""(
N>
aq-_-g—?,,) 256
9
1= ]
Nl =(-2)
= |- (-52) _ &3
| +2 e

G -




